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WRITTEN PRACTICE ANSWERS

1 Samples:  and 

2 5 × 100 = t; 500 years

3 13 − s = 6; 7 years old

4 2f = 488; 244 feet

5 Sample:

6 11  1 __ 
2
 

7  3 fish fillets 

8 80

9 1, 5, 7, 35

10 $204.00

11 $21.25

12 315

13 852

14 $382.80

15 448,000

16 80

17 72

18 $1.04

19 309

20 80 R 3

21 524 R 2

22 375

23  11:40 p.m. 

24 37  1 __ 
2
 %

25 April 20, 1901

26 a. 8  1 __ 
5
 

 b. 8  4 __ 
5
 

 c. 8  1 __ 
5
  < 8  4 __ 

5
  or 8  4 __ 

5
  > 8  1 __ 

5
 

27 24,960

28 a. 24 hr

 b. 12 hr

 c.   12 ___ 
24

 

29 7 hours 45 minutes or 7  3 __ 
4
  

hours
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WRITTEN PRACTICE ANSWERS

30 Sample: About 20 miles 
each day; 135 is about 140, 
and 140 ÷ 7 = 20.

Early Finishers:

a 

Seth’s Margie’s

b 
1 __ 
2
  >   1 __ 

3
 

c Seth ate 6 slices; Margie 
ate 4 slices.
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